Math 2201 Chapter 3 Review Name:
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Partl: Multiple Choice. Place the correct answer in the corresponding blank at the end of
this section.
1. Determine the measure of Z D to the nearest tenth of a degree.
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2. Determine the length of side z to the nearest tenth of a centimetre. F
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3. A flagpole casts a shadow that is 21 m long when the angle between the sun’s rays and
the ground is 48° . Determine the height of the flagpole, to the nearest metre. ?<

A) 19m B) 16m C) 14m 23m 4\ ©
A\ &~

4, Determine sin A and cos A to the nearest tenth. c _“q R
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5. Determine the measure of £V to the nearest tenth of a degree.
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6. Calculate the length of this rectangle to the nearest tenth of a metre.
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7. An architect draws this diagram of a wheelchair entrance ramp for a building.

Determine the angle of inclination of the ramp to the nearest tenth of a degree.
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8. A surveyor made the measurements shown in the diagram. Determine the distance
from R to S, to the nearest hundredth of a metre.
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9. Determine the length of QR to the nearest metre.
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Aladder which is 6 m in length is resting against a house. The ladder makes an angle

of 20" with the ground. How far from the base of the house is the ladder touching
the ground?
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What is the value of x in the diagram below?
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What is the value of 0 in the diagram below?
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If a triangle has sides of lengths a, b and c, then according to the Law of Sines,
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Find the value of x in the diagram below.
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Find the measure of the missing angle to the nearest degree.

7° Sw\K SnD5 % 53‘,:1)(—0@{)
B) 2

¥ =G S 2 |x=
(C) 50° X
(D) 35° m)( 0.0L8 éf% 13@\ <\
3.5, {
\J\

Which of the following would be the correct formula to use for finding the length of AB?

(A) b?> =a®+c®—2accosB

(B) ¢* =a”+b” +2abcosC
{C) ¢® =a® +b* —2abcosC
(D) a* =b? +c* —2bccos A

Find the Value of x in the diagram below.
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PartII: Constructed Response. Answer each question in the space provided. Show all
workings.

21. The straight-line distance between Kelly’s Island and Bell Island is 4.6 km. Bonita and John
want to take their boat from Kelly’s Island to the tip of Little Bell Island. How far will they
travel in total? Give your answer to the nearest tenth of a metre.
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22. Find the missing value of x in the following triangle to the nearest meter.
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23. Find the measure of @ to the nearest degree in the following triangle.
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24. Two airplanes leave the Fort Chipewyan airport in Alberta at the same time. One airplane

travels at 360 km/h. The other airplane travels at 430 km/h. About 30 min later, they are
150 km apart. Draw a diagram and determine the angle between their paths, to the nearest
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25. A radio tower is supported by two wires on opposite sides. On the ground, the ends of the
wires are 46.5 m apart. The angles of elevation for the wires are 62° and 67° respectively.

Determine the length of the longest wire and the height of the tower to the nearest tenth of
a metre.

X l%o (éfuéa“)
< SNk = 5(°

61° G
B —C

L _ & L = A

SR ;:A_ S‘; C SQCAV i i
L> = ‘ ?@D - 5 5
Ihbr% :ly\lj'\] SL\SlQ

2 %5993 w35 OQTXY?I s

{Q: 56\% _[7&% "~
l’\J"‘\Q o (S }DV\al/f.




